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Code No. : B02/511

Paper V

Time : Three Hours ]  [Maximum Marks : 80

uksV % izR;sd bdkbZ esa izR;sd iz'u dk Hkkx A ,oa B ^vfry?kq 

mÙkjh; iz'u* gSa] ftuds mÙkj ,d ;k nks okD;ksa esa nhft,A 

izR;sd iz'u ds Hkkx C ^y?kq mÙkjh; iz'u* o Hkkx D ^nh?kZ 

mÙkjh; iz'u* ds mÙkj funsZ'kkuqlkj 'kCn lhek esa fn;s tk,¡A

Note : Part A and B of each question in each unit consist 
of ‘very short answer type questions’ which are 
to be answered in one or two sentences. Part C 
‘Short answer type’ and D ‘Long answer type’ 
of each question should be answered within the 
word limit mentioned.

bdkbZ-I/uNIt-I

 1. (A) Je dk egRo le>kb;sA 2

   Explain the importance of labour.

     P.t.O.
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  (B) Je leL;kvksa dks le>kb;sA 2

   Explain the labour problem.

  (C) Hkkjr dh uohu Je uhfr dk o.kZu dhft,A

   Describe the New Labour Policy of India.

 (word limit 200-250) 4

vFkok/OR

   Je cktkj dk oxhZdj.k dhft,A

	 	 	 Give	the	classification	of	labour	market.

  (D) ßJe vktdy eq[k i`"B dk lekpkj gSAÞ Hkkjr tSls 
fodkl'khy vFkZO;oLFkk esa Je leL;kvksa ds egRo 
ds lUnHkZ esa bl dFku dk ijh{k.k dhft,A

   “Labour Today is front page News.” 
Examine the statement in the context of 
the Importance of labour problems in a 
Developing  Economy Like India.

(word limit 400-450) 12

vFkok/OR

   Je ls vki D;k le>rs gSa \ Je leL;kvksa ds mn; 
ds dkj.kksa dk fo'ys"k.kkRed foospuk dhft,A
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   What do you understand by labour ? Give 
the Analytical discussion of the causes of 
labour problem.

bdkbZ-II/uNIt-II

 2. (A) ekuo 'kfDr fu;kstu dk D;k egRo gS \ 2

   What is the Importance of man power 
planning ?

  (B) U;wure etnwjh D;k gS \ 2

   What is the minimum wages ?

  (C) etnwjh fdls dgrs gSa \ udn vkSj vly etnwjh esa 
vUrj crkb;sA 
What is wages ? Distinguish between 
Nominal Wages and Real Wages.

 (word limit 200-250) 4

vFkok/OR

   ekuo 'kfDr fu;kstu dh vko';drkvksa dh foospuk 
dhft,A

   Discuss the need of Man Power planning.

  (D) iw.kZ çfr;ksfxrk esa etnwjh dk fu/kkZj.k fdl çdkj 
gksrk gS \ js[kkfp= }kjk le>kb;sA
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   How are Wages determined under perfect 
competition ? Explain with the help of 
diagram. (word limit 400-450) 12

vFkok/OR

   U;wure etnwjh ls vkidk D;k vk'k; gS \ blds 
mís'; crkb;sA

   What do you understand by minimum 
wages. Explain its objectives.

bdkbZ-III/uNIt-III

 3. (A) mRikndrk dk egRo crkb;sA 2

   Discuss the importance of productivity.

  (B) Je la?kksa ds nks mís'; fyf[k,A 2

   Write the two objectives of labour unions.

  (C) Hkkjr esa Je la?kksa ds egRo ij çdk'k Mkfy,A 
Highlight the Importance the labour 
unions in India. (word limit 200-250) 4

vFkok/OR

   mRikndrk dk vFkZ vkSj mís'; crkb;sA

   Give the meaning and objectives of 
productivity.
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  (D) Je vkUnksyu dk D;k vk'k; gS \ blds fofHkUu 
fl¼kar crkb;sA

   What is meant by labour movement ? 
Write	its	different	theories.

 (word limit 400-450) 12

vFkok/OR

   jk"Vªh; etnwjh uhfr D;k gS \ jk"Vªh; Je vk;ksx dh 
flQkfj'ksa crkb;sA

   What is National Wage Policy ? Discuss 
the Recommendations of National 
Commission on Labour.

bdkbZ-IV/uNIt-IV

 4. (A) cky Je dh pkj leL;k,¡ fyf[k,A 2

   Write the four problems of child labour.

  (B) Je dY;k.k dks ifjHkkf"kr dhft,A 2

	 	 	 Define	labour	welfare.

  (C) Hkkjr esa efgyk Jfedksa dh çeq[k leL;kvksa dh 
foospuk dhft,A 
Describe the main problems of Women 
Labour in India. (word limit 200-250) 4

    [ 5 ] P.t.O.

Code No. : B02/511

vFkok/OR

   Je vk;ksx dh çeq[k  flQkfj'ksa crkb;sA

   Describe the major Recommendations of 
the labour commission.

  (D) lkekftd lqj{kk dk vFkZ] {ks= ,oa egRo dh foospuk 
dhft,A

   Discuss the meaning, scope and Importance 
of social security. (word limit 400-450) 12

vFkok/OR

   dkj[kkuk vf/kfu;e 1948 dh eq[; O;oLFkkvksa dh 
O;k[;k dhft,A

   Discuss the main provision of the factories 
Act, 1948.
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